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(A1) h(X\=3(wc(x\\ oN
(3 = 2916 (0.1
W3 = 2916 (01)!
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(C1) The funchion f does ot have an inverse Hhat
is & function

(W) On e domain —3.5 £x<3.5,+ maps a
Set of input value so Hhet each output
is mapped P only one output valve.
However, Hhe inverse relation of
is nof o function because each output
valve of £ jc not nepped from &
unigve inpot valve,
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£09) 1S afunchon relahon onI\/
0N Inverse.
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(AG) B =a+b In(t+1) G (0) = 40,000

G (0): Ho= a+b In(0+) G(q)=76,000
GA): To=a+DbIn(QlI+)

0o
(i) “o= oo M0 To= 40+b In(%)
40- QL 3= b In(4d)
b= 36
N 93
b= 7.96145
Q= HO ‘
b:'-l.q(o‘ qu.(DE%;”S
B(t) ARoC G(a) - 6(0) - %(:_,
q-0
thousandc
~ O ——=
~ 0.3956 day
of 295,6 _%_rl\lg
. i = 3l ay
(W Y-H0 = ZE(X 0)
= é& 0
3 T x+4
= 55 I
3 57(55) HO

Y = 597804 undts At %Jt +HO



FRQ #.1 (cmt)
) 60 = 4o+ 1961 In(5))  Aso= 59780

eéa)) =7l 301 6D
Ag, < G(50) since G(f) is J/
increasing @b o decreasing | ot
rofc, G(t) I1s concave ° B

down. On The interval of
0<t<ql,the average rafe of change
of the Secant line” lies below the
curve of G

() Abfer t=41 days the logarithmic finchon model
rafe continves To increase at a decreasing
rite over time. However the lincas model will
Cortive 1o increase et @ constant rufe of
Change, Therefore, The error will get lacger
at time increases ercer
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opinits 3 | H&) inches
A) Fonts: | 0
F (1.5, 18) P ar
G (9)q> 5/9. Ig//
:r (&-5)0) ;L‘ ql/
K (39 2| 0"
P (3.518) QPM .
B) h=asin[b(ti)+td = 9
$hiD= 9 sin [T (t-1)[+9 gz_i

(not unique) d= 9
- -Gsin[Mt-2ItT  dl.»
where poit, G 15 start” b=T

C)) On K, P) the heigit i positie and
Increasing. Choice(A) -

(W) On intervd (K,P) the rafe of e is
positive and decreasing becavse graplis
concave dowin » |
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.. , _X. _IC
ALY 10=e*t (W arcsm( = g
0= 33  sin () - X
_ N-3
= In(10)—3 & x
- 2 3
X= va

B ()= 1090 (8% + logio(@x)= Flogio X
&) = nog.o(uox) 09,0 X

J= 109, _@_
JO9) = 10910 x2>

(LL) K (x) = E%\(\Xx] qee X
kix) = 0S¥ x [p—;_/x_

[SH\XJ ]
K(x) = oot X
- |

k0D =

 —
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FRR #4 Ky (Cont)
(C)  m(x)=cos \(tan (35)
O = cos” [ tan (0]
o5 (0) = o5 cas”(tar (39]
1 = tan(y
1o 4 = tan” (Ta0 (W)
:Pf: +Tn = dx

X :I+£n (where N is an ifteger)
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